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EHE EIRAT D - 23 |MKEEBEGRESE(FEEHEEER) [P pik 4 Tnlabide 23 HHEBX H7 EiE 3/4 162,145 162,145 0 141,876 141,876
EHE HIERT D - 23 |MKEEABIRRERSECRESBRAES) PR BIRRERE HHEHEX B % 3/4 305,563 305,563 0 267,367 267,367
EHE EIEET C - 4 |EEEVVLII7—LEREE WO R EERREIERE (BEAERERS) HHEBX 2 Fel 4% 1/2 244,627 244,627 0 183,470 183,470
EHR B AT cC - 4 BEERTLVGCHAMEREE BB EERREXIBERE (BEABRERS) HHHX [} k3 1/2 11,018,110 11,018,110 0 8,263,582 8,263,582
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EHR EHXET (& C 1 BMEFEEEIERE HAE R () RS E) EEHMX [} Hif 4/5 32,500 32,500 0 26,000 26,000
EHE EIEAT C - 4 |EEEEH BHREMERSEE WO R EERREIERE (BREAERERS) SRR 2 Fel#E 1/2 493,755 493,755 0 370,316 370,316
EHR EIRAT C - 4 |EEEIVVGIERSEBEE WP REERREBEE (BEAEEEHSE) EEABR 2 FildE 1/2 78,918 78,918 0 59,188 59,188
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EHE EIRAT D - 23 |MKEEBEGREESEGIR) [P pik 4 T labde 23 FUEMX H7 B 3/4 1,373,246 1,373,246 0 1,201,590 1,201,590
EHE EIEAT D - 23 |MKEEBEGREREXER) PR EBIRRERE EEHMX B % 3/4 1,614,517 1,614,517 0 1,412,702 1,412,702
=EHE EIRAT D - 23 |MKEEBEGREESE(SHBELN) [P pik 4 T labde 23 HHEBX H7 B 3/4 364,123 364,123 0 318,607 318,607
=EHE HIERT D - 23 |MKEEBIERRERE(EH/NER) PR EABIERRERE HHEHX B i 3/4 357,739 357,739 0 313,021 313,021
=EHE EIRAT D - 23 |MKEEBEGRESE(FEEHEEER) [P pik s 4 Tnlabde 23 HHEBX H7 B 3/4 114,173 114,173 0 99,901 99,901
=EHE HIERT D - 23 |MKEEABIRRERSECRESBRAES) KEABIRRERE HHEHEX B [=£:3 3/4 205,511 205,511 0 179,822 179,822




